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Mazart — Sympheny No. 39 in Eb Major, K. 343
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VIOLINO R

Mozart — Symphoay Ne. 39 in Lb Major, I 543
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Stanistaw i Anna Oswiecimowie

G
Violino II M. Karfowicz, Op.12.

atem p‘{{ ks

22 -i");]u—\ C{}twww« CRyorenwe :; '?

‘- ._‘ o
e af |4 f'
28 il g
(R -1 .ﬂ,
3 -'q:

= iy
Syl
bt g P £
CTESE.

iy,
.

winis,
accelerando
= h Y o

?" ot

mf molto crese.

e b
23 =

3 g
X PER




o et

o

<o

?

A
- A

e

GpPoruie a1

Violine |

(:(A’L '\:"L/L,%

18

b

’

-

& R

0

Allegro giocoso
TEN /___\>
1’*—10—

: n

4

=

dH

AL

Aa
e

48

SR
P
i )
7

Iy

4'-1'--.—

-
|
|
I

Y
i

P grazioso

4

i,

pizz.

o)
‘Hlp

T
i

[
|
|
1

Aarco
} L

dim.

I,

P

Crese,

o

#_

109




Violine |

L
%

i

o =
{7

ben marc.

Ad]

Cresc,

@l

=

cresc,

1
-,

marc,

Pl

2]

I

=
=i

Ex

fﬁjgu__

e

]

=

=

2 o
===
=
!

o

=

>
‘I!..Q.I‘
1

b

e,

>

e o,




Mahler — Symphony No. 5 in C# Minor
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Mahler — Symphony No. 5 in C# Minor
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Schumann — Symphony No. 2 in C Major
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Schumann — Symphony No. 2 in C Major
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